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QUESTION 1

What happens if you execute these SQL statements? 

SQL> show con_name 

CON_NAME 

CDB$ROOT 

SQL> create user 1_freed identified by y container=current; A. A common user is created in the root container. 

B. A local user is created in the root container. 

C. A local user is created in all the PDBs. 

D. The second SQL statement fails because a local user cannot be created in the root container. 

Correct Answer: B 

 

 

QUESTION 2

Which database feature can be used for organizing data when there is a very large amount of data? 

A. Index 

B. Partitioning 

C. Triggers 

D. Row-level security 

E. Database vault 

Correct Answer: B 

Reference: http://docs.oracle.com/cd/B28359_01/server.111/b28318/intro.htm#CNCPT999 (see very large databases) 

 

QUESTION 3

Which three operations can the PUBLIC user with the SYSOPER privilege perform? 

A. STARTUP 

B. SHUTDOWN 

C. CREATE DATABASE 

D. DROP DATABASE 
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E. ALTER DATABASE RECOVER 

Correct Answer: ABE 

Reference: http://docs.oracle.com/cd/B28359_01/server.111/b28310/dba006.htm#ADMIN11049 

 

QUESTION 4

Which type of file system is NOT valid for storing data files, online redo log files, and control files for a pluggable
database? 

A. Automatic Storage Management (ASM) 

B. OS file system 

C. logical volume (LVM) 

D. clustered file system 

E. RAW 

Correct Answer: E 

 

 

QUESTION 5

Examine the command: sqlplus /nolog 

In which scenario would this command execute successfully? 

A. only from the server, if the database instance is not up 

B. from either a client or server, even if the database instance is not up 

C. from either a client or server, only if the database instance is up, and the command connects the session to the
instance 

D. from either a client or server, only if the database instance is up, but the command does not connect the session to
the instance 

Correct Answer: B 
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